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IS76;21'203
S.E. (Cornp.) (First Semester) EXAMINATION 2010

DIGITAL ELECTRONICS AND LOGIC DESIGN

(2008 corrRsE)

Time : Three Hours Maximum Marks : 100

N.B. : - ( i )  Answer Q. No. 1 or  2,  Q. No. 3 or  
'  
4,  Q. No. 6

o r  6  f r om Sec t i on  I  and  answer  Q  No .7  o r  8 ,

Q. No. I or LO, Q. No. 11 or L2 fron Section II.

(ii) Answers to the two Sections should be written in separate

answer-books.

(ili) Neat diagrams must be drawn wherever necesshry.

(iur Figures to the right indicate full marks.

(u) Assume suitable data if necessary.

SECTION I

Convert the following octal numbers into its equivalent decimal1; (o)

and hex. :

(r) (555)n4"1

(ii) (777)ogr^1.

(b) Solve the foilowing equations using corresponding ninimization

techniques, also draw MSI design for the minimized ou@ut equation :

( t )  Z  =  f  6 ,  B ,  C ,  D)  =  n  (2 ,7 ,8 '  10 ,  11 '  13 '  15 )

(ii) z = / (A, B, C, D) = x (0, 3, 4, 9, 10, 12, L4).lr2l
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show the

corresponding BCD

step-by-step

: [6]

code. Show

t61

and show the

8, 9, 10, 12, 15)

brief. 161

t6l

o .  t a /

( b )

4.  (a)

With the

EPI for

,lXprarn

the PI,

l10l

gate

vrith

wr[n Eof,em pole. -ujxp.lam

suitable input conditions

t10l

or rogrc ramtlres rn detatl. [tiJ"  (b)
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Exprarn lJrpes
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ta)

7483. Explain

as a full adder and

t4l

out

t6l

explain

t8l

Explain with a neat diagram worklng of3-bit up-down s5mchronous

counter, Draw necessary timing diagram. t10l

uesrgn a sequence generator with a seque4ce 1101011. tSl

7.

8. kr)
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10.

9.

l l l

(a) With the help ol an Atjlu cnaru oeslgn a ulooulo o

counler.

(b) Write VHDL code for 4-bit full adder'

' O r

(a) Describe architecturai blocks of FPCaA. Briefly explain

of each.

(b) Write VHDL code

a 3 : 8 d e c o d e r .

block dragram or a

each block.

UT

up-down:

I l  nl

Iot

function

t10l

t61

(a)

(b)

Design

Draw a

explain

4-bit Gray code

? Give different

t8l

microprocessor. Briefly

18l

c0unter.

types of bus used

12. (a)

(6)

t81

by

t4t'
bus

(c.)

t4l
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